Two Pieces Flanged Ball Valve
Full Bore PN40O for DN15 ~ DN50

PN16 for DN65 ~ DN300
Fugitive Emission

FEATURES

e Investment Cast Body Contruction
* 2 Pieces Body Design AVAILABLE

* ISO 5211 Direct Mounting Flange

* Blow-Out-Proof Stem Design & Anti-Static Device

* Available for Pneumatic or Electric Actuator

* NACE MRO0175 is available upon request

* Super Alloy materials for highly corrosive medium are
available upon request

CERTIFICATED

(“;“,s [_[PN40 [.0619]B0 sf:“\ ( @ )

o Pl haps SPECIFICATIONS

i « Size Range DN15 ~ DN300 ( 1/2" ~ 127)

B ==\ « End Connection Flanged End, RF
o mmm: e « Working Pressure 1.4408 - PN40 38.8 / PN16 15.5 BAR
AN N 1.0619 - PN40 39.0 / PN16 15.6 BAR

R ’E'T;{;P;ffw’ﬁ‘; EE e Steam Pressure 150 PSIG. Saturated Steam
| PN40 P-T Chart for DN15 ~ DN50 4 e Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.

STANDARDS

| E
E

é * Design ISO12516-1/2 / 1SO 17292 / APl 608
s FCD HANDLE FOR 212", 3", 4° * Mounting Flange ISO 5211
5 * Face to Face DIN 3202 F4 for DN15 ~ DN100
55 ‘ ‘ DIN 3202 F5 for DN125 ~ DN300
@9) | * Flange Dimension EN 1092-1 PN40 for DN15 ~ DN50
MxON 33 EN 1092-1 PN16 for DN65 ~ DN300
% 15 e Material EN1503-1
— 192 * Pressure Testing EN 12266
- 5
N\ CERTIFICATE
QG @J @ PORT{— - —— -
1 S * Fire Safe QeEIEN API1 607 6™ Edition / ISO 10497
’ ‘ * Fugitive Emission ISO 15848-1 / TA-LUFT
o EH .
* Quality Assurance ISO 9001
* Material Certificate EN 10204-3.1 MTR
* CE Approval PED 97/23/EC Module H
MATERIAL LIST DIMENSION unit : mm
NO PART NAME MATERIAL SIZE  |PORT| L E H |HI |H2| C |@Y |@G|@J| @ | T|F [M@N| @K z
— =557 EN150311(4T(‘)’: Opt""é‘;fs"g;'af'fo)mg DN15 | 1/2" [ 150 [ 115 | 165 |66.0 | 14 | 8 [6.35|93 | 95 | 65 | 45 | 16 | 2 |4 14 | 42 [Fo4| M5x0.8
VI T ASTMA'351'GrCF8M - DN20 | 3/4” | 200 [ 120 | 165 |74.0| 14 | 8 [6.35| 93 |105| 75 | 58 | 18 | 2 [4| 14 | 42 |Fo4| M5x0.8
5 ISTEM ASTM A276 Gr SS316 DN25| 17 | 250 |125| 200 [87.0] 19 | 11 | 8.0 [10.9[115 | 85 | 68 | 18 | 2 |4| 14 | 50 [FO5| M6x1.0
9 |END CAP EN1503-1 1.4408 _ |EN1503-1 1.0619 DN32 [1-1/4” 32.0 | 130 | 200 [92.0| 19 | 11 | 8.0 [10.9] 140 [100| 78 | 18 | 2 [4| 18 | 50 [FO5| M6x1.0
11 _|BODY SEAL GRAPHITE+SS316 SPIRAL WOUND WIRE DN40 [1-1/2| 38.0 | 140 | 250 [105.0] 23 | 14 | 9.5 [15.7|150 | 110 | 88 | 18 | 3 |4 18 | 70 [F05|M8x1.25
g ?EQLSTWASHER EIEEEEZ?(G;R DN50| 2 |50.0 | 150 | 265 |115.0] 23 | 14 | 9.5 [15.7] 165 | 125 | 102 20 | 3 |4]| 18 | 70 |[Fo7|msx1.25
.(15%G.F. "
I A R RIEEET e DNG5 |2-1/2’| 64.0 | 170 | 390 [152.5] 71 | 50 [17.0|28.0| 185 | 145|122 | 18 | 3 [4| 18 |102|F10|M10x1.5
14 |STEM PACKING RTFE.(15%G.F.) DN80| 3" |76.0 | 180 | 390 |161.5| 71 50 |17.0 |28.0| 200 | 160 | 138 | 20 3 |8| 18 |102|F10|{M10x1.5
14-1|STEM PACKING PTFE.+50%SS316 DN100| 4” [100.0| 190 | 390 [179.0] 71 | 50 |[17.0 [28.0|220 [ 180 [ 158 | 20 | 3 |8| 18 [102|F10|M10x1.5
15 |GLAND BUSH SS304 —
19 |HANDLE SS304/ FCD45 DIMENSION unit : inch
21 |HANDLE COVER PLASTIC size [PorTl L | E | H |Hi|H2| c |ov|ec|au|a | T]F |mMon| ok z
22 [STEM NUT SS304
ST IR ASTER Send DN15 | 1/2" | 0.59 |4.53| 6.50 | 2.60 | 0.55]0.31 | 0.25 | 0.37 | 3.74 | 2.56 | 1.77 |0.63]0.08] 4 | 0.55 |1.65| F04| M5x0.8
24 [HANDLE NUT SS304 DN20 | 3/4” | 0.79 |4.72] 6.50 | 2.91 | 0.55]0.31 | 0.25 | 0.37 | 4.13 | 2.95 | 2.28 |0.71]0.08] 4 | 0.55 |1.65| F03| M5x0.8
27 |ANTI-STATIC DEVICE  [SS316 DN25| 17 |0.98[4.92] 7.87 |3.43 |0.750.43[0.31 | 0.43 | 4.53 | 3.35 | 2.68 [0.71]0.08] 4 | 0.55 |1.97| F05| M6x1.0
28 |LOCKING DEVICE SS304 DN32 [1-1/4’| 1.26 |5.12| 7.87 | 3.62|0.75]0.43|0.31 [ 0.43 | 5.51 |3.94 | 3.07|0.71]0.08 | 4 |0.71 [1.97|F05| M6x1.0
28-1|STOP PLATE SS304 DN40 |1-1/2'| 150 | 5.51| 9.84 | 4.13 | 0.91|0.55| 0.37 | 0.62 | 5.91 | 4.33 | 3.46 |0.71|0.12| 4 | 0.71 [2.76| FO5 |M8x1.25 £
29 |BELLEVILLE WASHER | SS301 - $
30 |TAB WASHER 55304 DN50 | 2 | 1.97 [5.91|10.43(4.53 [0.91(0.55(0.37 |0.62 | 6.50 |4.92 | 4.02|0.79]0.12| 4|0.71 |2.76|F07 |M8x1.25 &
33 [STOP PIN 55304 DN65 [2-1/2’] 2.52 |6.69 | 15.35 | 6.00 | 2.80| 1.97 | 0.67 | 1.10|7.28|5.71] 4.80 |0.71]0.12 | 4|0.71]4.02|F10[M10x1.5 2
35 |STUD ASTMA193 GrB8 | ASTM A193 Gr.B7 DN80| 3" | 299 |7.09(15.35]6.36 | 2.80|1.97|0.67 |1.10|7.87|6.30 | 5.43 [0.79|0.12| 8 |0.71|4.02|F10[M10x1.5 &
37 |BOLT NUT ASTM A194 Gr.8 ASTM A194 Gr.2H DN100| 4" | 3.94 [7.48[15.35|7.05(2.80[1.97]0.67 [1.10]8.66|7.09]6.22(0.79|0.12|8[0.71 [4.02[F10|M10x1.5 &
O
=
o~

md_sales @ms.modentic.com.tw ) © 2016 Modentic Industrial Corporation
Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 * Fax:+ 886 4 23317771 and owned by other respective companies



Flanged Ball Valve
Full Bore PN40O for DN15 ~ DN50

PN16 for DN65 ~ DN300
Fugitive Emission

FEATURES

e Investment Cast Body Contruction
* 2 Pieces Body Design AVAILABLE

* ISO 5211 Direct Mounting Flange
* Blow-Out-Proof Stem Design & Anti-Static Device
e Available for Pneumatic or Electric Actuator
CR \!f/” * NACE MRO0175 is available upon request
CERTIFICATED DN125 ~ DN.300 ( 5” ~ 12” ) * Super Alloy materials for highly corrosive medium are
available upon request

e
o] ppdorass
£, et T « Size Range DN15 ~ DN300 ( 1/2" ~ 12")
\ ¢ End Connection Flanged End, RF
“ * Working Pressure 1.4408 - PN40 38.8 / PN16 15.5 BAR
B R s 1.0619 - PN40 39.0 / PN16 15.6 BAR
R m"u“;;‘;ﬂffm{;i R e Steam Pressure 150 PSIG. Saturated Steam
" PN16 P-T Chart for DNG5 - DN300_g « Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.

e Design 1ISO12516-1/2 /1SO 17292 / AP| 608
* Mounting Flange ISO 5211

STANDARDS
! HE
} 47
ox e Face to Face DIN 3202 F4 for DN15 ~ DN100

- | DIN 3202 F5 for DN125 ~ DN300
oL * Flange Dimension EN 1092-1 PN40 for DN15 ~ DN50
EN 1092-1 PN16 for DN65 ~ DN300
- e Material EN1503-1
Z | * Pressure Testing EN 12266
¢ Fire Safe @EIEN API 607 6™ Edition / ISO 10497
O \\E77 777 iy
% 7 .\ ..
.\\\/A//////é — e Fugitive Emission ISO 15848-1 / TA-LUFT
! \‘\‘W'/‘ — )
MXON GeroR=EE % * Quality Assurance ISO 9001
I
- Ny * Material Certificate  EN 10204-3.1 MTR
iy i
. % SUPPORT BALL DESIGN(10°12) * CE Approval PED 97/23/EC Module H
MATERIAL LIST DIMENSION unit : mm
MATERIAL
NO PART NAME ( more options available ) SIZE  |PORT| L E H |[Hl |H2| C |@Y| @G| @J| @ | T|F |M|[@N| @K
1_|BODY EN1503-1 1.4408 EN1503-11.0619
4 |BALL ASTM A351 Gr.CF8M ASTM A351 Gr.CF8 DN125| 5” 125 | 325 | 650 | 225 | 69 | 42 | 23 | 36 | 250 | 210 | 188 | 22 3 | 8| 18 |125|F12|M12x1.75
5 |STEM ASTM A276 Gr.SS316 | ASTM A276 Gr.SS304
9 |END CAP EN1503-1 1.4408 EN1503-1 1.0619 DN150| 6" | 150 350 | 650 | 274 | 69 | 42 | 23 | 36 | 285 [ 240 | 212 | 22 | 3 |8 | 22 [125|F12|M12x1.75
11 |BODY SEAL GRAPHITE+SS316 SPIRAL WOUND WIRE
12 [SEAT RTFE.(15%G.F.) DN200| 8" | 200 [400| 950 | 302 | 81 | 54 | 23 | 36 | 340 | 295 | 268 | 24 | 3 |12| 22 [125|F12|M12x1.75
13 |THRUST WASHER RTFE.(15%G.F.)
13-1|THRUST WASHER PTFE.+50%SS316 DN250| 10” | 250 | 450 | 1100 | 372 | 98 | 54 | 35 | 50 | 405 | 355 | 320 | 26 | 3 [12| 26 |140 F16| M16x2.0
14 |STEM PACKING RTFE.(15%G.F.)
14-1|STEM PACKING PTFE.+50%SS316 DN300| 12’ | 300 | 500 | 1100 | 413 | 98 | 54 | 35 | 50 | 460 | 410 | 378 | 28 | 4 |12| 26 |140 |F16| M16x2.0
15 |GLAND BUSH SS304 [CARBON STEEL
19 |HANDLE FCD ADAPTER / S15C PIPE HANDLE T
27 |ANTI-STATIC DEVICE 55316 DIMENSION unit : inch
33 |STOPPER SS304
35 |STUD ASTM A193 Gr.B8 [ASTM A193 Gr.B7 SIZE PORT| L E H |H1I|H2|C |@Y| @G| @J | @ [ T | F |M|@N oK P4
37 |BOLT NUT ASTM A194 Gr.8 |ASTM A194 Gr.2H
41 |SNAP RING 55304 DN125| 5" | 4.92 [12.80| 25.59 | 8.86 [2.72|1.65|0.91|1.42| 9.84 | 8.27 | 7.40 |0.87|0.12| 8 |0.71|4.92|F12|M12x1.75
42 |GLAND BOLT SS304 [CARBON STEEL
47 |GLAND FLANGE ASTMA351 Gr.CF8 _ |ASTM A216 Gr.WCB DN150| 6" | 5.91 [13.78 25.59(10.79(2.72 |1.65|0.91|1.42|11.22| 9.45 | 8.35 |0.87|0.12| 8 |0.87|4.92|F12|M12x1.75
56 |STEM BEARING RTFE.(15%G.F.) 5
90 |PIN SEAT PTFE.(15%G.F.) DN200| 8" |7.87 [15.75 37.40 [11.893.19 |2.13|0.91|1.42(13.39|11.61|10.55|0.94|0.12|12|0.87 |4.92|[F12|M12x1.75 &
91 |PIN PACKING GRAPHITE g
92 |SUPPORT PIN S8316 DN250| 10” | 9.84 |17.72) 43.3114.65|3.86 | 2.13(1.38|1.97|15.94|13.98(12.60|1.02|0.12|12[1.02|5.51 |F16| M16x2.0 '
93 |SUPPORT NUT SS304 =
94 |SET NUT SS304 Py
" 111.81(19.69| 43.31 [16.26| 3.86 [2.13 | 1.38 | 1.97 [18.11/16.14|14.88|1.10|0.1 1.02/5.51 0 3
55 TTUNING SCREW co304 DN300| 12" |11.81[19.69| 43.31|16.26|3.86 |2.13|1.38|1.97|18.11 |16 88/1.10/0.16|12|1.02|5.51|F16| M16x2.0 g
=
o~

md_sales @ms.modentic.com.tw ) © 2016 Modentic Industrial Corporation
Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 * Fax:+ 886 4 23317771 and owned by other respective companies



